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= 2,247,709
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= 177,485
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SN SSIAMANEL
Bu: JlEge U SN2 oEBe
S s MEMAYE 4 2 28 N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SSEASO A 12| 313,979 313,979 0
301 EEd = 313,979 313,979 0
0B A =R A4S 313,979 313,979 0
Ogdaszaa 600,000 x27H 128 194,400
OofRIg2e+¢ 50,0003 *x27H x12& 16,200
O=hz22Y 103,379,000 103,379
HeldEH 2l 1,105,165 2,780,914 AN 1,675,749
= 532,415
< 572,750
Mgy &c 81,250 264,500 A 183,250
201 L2l 9,250 158,500 A 149,250
01 At 22/l 4,250 8,500 A 4,250
OBL-3 &84 H=+ XMeldl S 4,250,000 4,250
02 2324l 5,000 150,000 A 145,000
OZEEAAEH |RA2eldH S 5,000,000 5,000
206 M= Hl 4,500 4,750 A 250
01 M2l 4,500 4,750 A250
OBL-3 Z AtAIA s 4,500,000 4,500
207 Ao H| 67,500 71,250 A 3,750
FREEETI 67,500 71,250 A 3,750
O1slg FMEE(FE=E , &ss) 4,500,000 4,500
OFHY 3LacE s 7g 31,500,000 31,500
OOLZ2IItH X & 228 F
31,500,000 31,500
JIEEY oY 2 2A 28 2 S N (HAXE 998,915 1,861,414 A 862,499
H1)
= 519,915
< 479,000
201 Let2d] 60,000 60,000 0
= 30,000
< 30,000
02 2324l 60,000 60,000 0
OBL-34 84 RA22Hl S
30,000,000 *2J4 2 60,000
= 30,000
< 30,000
207 A RO 938,915 1,801,414 A 862,499
= 489,915
< 449,000
03 A& &2l 938,915 1,801,414 A 862,499
OFHdY gd3uZ 40,915,000 * 14 40,915
= 40,915




SN SSAMANEL
I Iz L FAS oM 2|
Sel: HolEEy e CERED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SN EREFREEIENEE
826,000,000 « 1Al 826,000
= 413,000
o=t 413,000
o4 HA 72,000,000 x 14! 72,000
= 36,000
= 36,000
A L HEY HAEH S (e &HEe D) 25,000 655,000 A 630,000
= 12,500
= 12,500
405 KHoHFE S HI 25,000 515,000 A 490,000
= 12,500
= 12,500
01 AL 2B F S| 25,000 515,000 A 490,000
Oasa HED 10,000,000 » 1Al 10,000
= 5,000
= 5,000
Oalgal Z2I|a47E30] 5,000,000& 34! 15,000
= 7,500
& 7,500
Ay 22 1,326,641 0 1,326,641
= 697,387
& 629,254
EREY Mo 19,810 0 19,810
201 LBt | 19,810 0 19,810
01 AP 22| H| 4,810 0 4,810
OBL-3 A& A H% Xeldl 3,960,000 3,960
OMESHEARAZ =2 S 850,000& 850
02 B2 15,000 0 15,000
O&ZYHAAIEH &K 2el = 15,000,000 15,000
JISEY et 2 HE AE o = JA_A(ZF2EY 1,306,831 0 1,306,831
)
= 697,387
== 609,444
207 &I 2l 1,306,831 0 1,306,831
= 697,387
== 609,444
03 A& A 3H| 1,306,831 0 1,306,831
OXFAS A 0 1,058,308,000& =14l 1,058,308
= 529,154
= 529,154
OFteHe| Hot 1242 x5,000%= 620
= 370
& 250
O=xuie| detol kXt 1,7532 «800AH 1,403
= 1,363
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HE: JlEge U S42 oFEBe
Sl ZREY 2o CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 40
OJ=Z2Y 82 AM 86,500,000 =14l 86,500
= 86,500
OJtg=sot Z2g2elXI& 4,000,000 «40= It 160,000
= 80,000
< 80,000
f=dgdE 2gaH 476,297 228,326 247,971
= 226,940
< 249,357
JIEEY oY 2 2d 2E 2 S NI (FYA 274,068 151,047 123,021
)
= 164,690
< 109,378
207 RO 274,068 151,047 123,021
= 164,690
< 109,378
03 A& &2l 274,068 151,047 123,021
OHA 2Y ZULIHY T A
5,000,000 *43= It 215,000
= 107,500
< 107,500
OJI=EEHBA & HdZE  4,834,0003 14 4,834
= 4,834
OHYX 2HA3Y 2E 31,297,000 =14 31,297
= 29,419
< 1,878
OHHAl &0 Z 22,937,000% 14 22,937
= 22,937
FHAC HAAL X 77,729 77,279 450
201 Let24d] 28,540 25,030 3,510
01 At 22/l 10,540 10,030 510
OJ=&2Y ZE2X S 10,540,000 10,540
02 =224l 18,000 15,000 3,000
OZFMHEH SX22H S 18,000, 000 18,000
202 (44l 4,369 4,369 0
01 SLHOIYI 4,369 4,369 0
AEAE AMStWE Ol 4,369,000 4,369
206 M= Hl 2,700 2,850 A 150
01 M= 4l 2,700 2,850 A 150
Odgse 7¢ & 22 2,700,000 2,700
207 A ROl 42,120 45,030 A2,910
03 A& &34l 42,120 45,030 22,910
OJ=2d Jtd= g424& 9,000, 000 9,000
ONEZEZIAMN IE L A 5,400,000 5,400
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HE: JlEge U S42 oFEBe
ool JEMEY YN CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsAZEdMEtSs FET 2 13,500,000 13,500
ODNA, RNAZ=ZEJIE ¢ 4,500,000 4,500
OSHHACCPEE B AMIIIE F& 9,720,000 9,720
gAY L Y HAEY S X2 (HYXSH) 124,500 0 124,500
= 62,250
< 62,250
405 XHoHE S HI 124,500 0 124,500
= 62,250
< 62,250
01 et EFSFHSHI 124,500 0 124,500
OXA AT 49,500,000& =1CH 49,500
= 24,750
< 24,750
OZXZ&XHeldl 75,000,000& «1CH 75,000
= 37,500
< 37,500
SN oty =8 256,726 227,521 29,205
J| 93,546
< 163,180
SHE AN Y OHAEA HA 22,862 25,097 N2,235
201 ¢4l 15,980 17,000 A 1,020
01 At 22l 15,980 17,000 A1,020
OFUSAYUSNI S 1,445,000 1,445
OESZANSYN SALHEX 2
4,335,000 4,335
O A2 ESH| 10,200, 000 10,200
202 04l 6,882 8,097 21,215
01 = LH 4 Hi 6,882 8,097 A1,215
OE=ZAS BExus S 6,882,000 6,882
SUSAMAAIZ 2ZH X2 (SAS2A41) 233,864 202,424 31,440
J| 93,546
= 140,318
201 L4l 45,000 45,000 0
J| 18,000
< 27,000
02 =224l 45,000 45,000 0
O3 = ZALEHl SAHI 45,000,000& 45,000
J| 18,000
< 27,000
207 RO 188,864 157,424 31,440
J| 75,546
< 113,318
03 A& &2l 188,864 157,424 31,440
OE=ZA 37.513+437,083A 16,395
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EX: SERFIMAE L
HE: JlEge U S42 oFEBe
oSl BAS OFA BB (S9:H8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 6,558
& 9,837
OAlgE R =2E ZA 21,826& *1,700A4 37,105
J| 14,842
=} 22,263
OAEZ 0|M2 ZA 5,210. 78 %2 477A 12,907
J| 5,163
& 7,744
OuWdza ZAl 125, 161 46524 58,200
J| 23,280
o=} 34,920
O K& A 294 .43& 80,0004 23,555
J| 9,422
& 14,133
Ooggd 2HH 78,640 2452 19,267
J| 7,707
= 11,560
OaEet HA 119,083& 18024 21,435
J| 8,574
= 12,861
SN2 FLE A 1,076,400 650,547 425,853
= 30,400
Jl 333,387
== 712,613
EMSAEZAI2 29 N (FL2ADH) 182,134 249,447 NB7,313
201 et 19,000 82,000 A 63,000
01 AFR 2t 2| bl 19,000 20,000 A 1,000
OX&EHII= |A=2e S 7,600,000 7,600
OFLU2A HAIY DsY = 11,400,000 11,400
207 I & d| 163,134 167,447 A4 ,313
03 A&l o 322H| 163,134 167,447 N4 ,313
OFM2BISE FEZ AL MEHI 43,434,000 43,434
Ost2K A A 42,750,000 42,750
Oaset =8I A XIS EE A
76,950,000 76,950
EMEINZ2E £0{H L M2 H XN (HU2A) 60,800 60,800 0
= 30,400
& 30,400
207 A3 IH | 60,800 60,800 0]
= 30,400
& 30,400
03 A& A 32| 60,800 60,800 0
OFMZ JIIEE S =HH| 10,000,000 10,000
= 5,000
= 5,000
OFMEIINEBE =HIBAH MEH| 50,800,000 50,800
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SN SSAMANEL
I OtsYY @ FiE etd e
el SN2 ZURA (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 25,400
= 25,400
SMSOHELAA NI (FL2AD) 463,466 340,300 123, 166
J| 185,387
< 278,079
201 ¢er24| 150,000 0 150,000
J| 60,000
< 90,000
02 =224l 150,000 0 150,000
OBYSHEY W JINY SU2 S
150,000,000 150,000
J| 60,000
S 90,000
207 O &l 313,466 340,300 A 26,834
J| 125,387
< 188,079
03 Al & 11HI 313,466 340,300 N 26,834
OFUE SSEAAS ZA 126,786,000 126,786
J| 50,715
< 76,071
O=FuE &4FH B A 117,380,000 117,380
J| 46,952
S 70,428
OFRIAFZSEHZA 69, 300, 000 69,300
J| 27,720
< 41,580
ENSMAAIIZ AR PY N (RUY2HD) 370,000 0 370,000
J| 148,000
< 222,000
405 RHoHE S HI 370,000 0 370,000
J| 148,000
< 222,000
01 AL ESFHSHI 370,000 0 370,000
O&a =22l 20,000, 000 20,000
J| 8,000
< 12,000
O¥XNIAZ0tEDHI -2 S EA I 350,000,000 350,000
J| 140,000
< 210,000
IELY U ZAS B (ND) 1,571,156 2,034,074 462,918
= 387,530
J| 121,728
< 1,061,898
JbEYY wel Y HYTAN(XA) 899,557 1,369,956 A 470,399
2 387,530
< 512,027
JIEEY oy 2 2A %E 2 S KB (Xd) 685,727 1,167,106 A 481,379




EX: SERFIMAE L
HaM: JI=gtd LU SAS HE B2 (KAL)
SRl JIEFYY Yo ¥ FYIAH(XL) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 387,530
= 298,197
207 A0 | 685,727 1,078,823 A 393,096
= 387,530
= 298,197
03 A& A 2H| 685,727 1,078,823 A 393,096
O Zsg(pPD) 2 897&%51,700% 46,375
= 38,620
& 7,755
OZsH 20teleHE 248 7,6002 65,0005 494,000
= 247,000
= 247,000
OAs Zsh H&A 50,000 9505 47,500
= 23,750
o 23,750
O B2 424 MRT 3782 12,3495 4,668
2 4,051
& 617
O2 E24 et Rose-Bengal 430& x182,0005 78,260
= 60,060
o= 18,200
OFuiely Ho 1242 «15,000% 1,860
= 1,110
& 750
O=xee|y detol Xt 1,753%%2,499 .52 4,382
= 4,257
o= 125
Oxxz3 8,682,000 1 8,682
= 8,682
GolAS U MBES 54 22,230 24,700 A2,470
206 M = dl 22,230 24,700 A2,470
01 =4l 22,230 24,700 N2,470
OsdXeg ASAE 11,250,000 11,250
OASYHMAEY U 0ISA A5%E
10,980,000 10,980
=AY HE S (XIA) 191,600 178,150 13,450
201 LBt 9| 68,750 68,000 750
01 AP 22| H| 63,750 63,000 750
OHdEHHII=E FIEXMeH & INF &3
A~2R2E S 63,750,000 63,750
02 22| 5,000 5,000 0
OLlINF Rudss S 5,000,000 5,000
202 044 30,600 18,000 12,600
01 U401 bl 30,600 8,000 12,600




SN SSAMANEL
Ha: lEYY U HU42 AFB(XL)
SRl JIEFYY Yo ¥ FYIAH(XL) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONsgH (2, P 8) =& 0l
30,600, 000 30,600
207 O] 92,250 92,150 100
03 Al & 12HI 92,250 92,150 100
OJ=Z2Y 132 g4 23 11,250,000 11,250
OAEAZAS 9,000, 000 9,000
O=2% HACCP E Y& At 13,500, 000 13,500
Olslg FMEE(FA=, &5 S) 27,000,000 27,000
ONSZHEIAMN AVE L A 9,000, 000 9,000
OPCR 2 & Al Sf 22,500,000 22,500
SME XA SHE(XA) 350, 121 300, 119 50,002
J| 121,728
< 228,393
SMSAMAADI I 2HH K3 (XL) 304,320 254,318 50,002
J| 121,728
< 182,592
201 Let24E] 45,000 45,000 0
J| 18,000
< 27,000
02 2324l 45,000 45,000 0
OO0tat AR ALEHl |RXIHl 45,000,000 14 45,000
J| 18,000
= 27,000
207 & O &l 259,320 209,318 50,002
J| 103,728
< 155,592
03 Al & 11HI 259,320 209,318 50,002
Ot A SA Mg 7
259,320,000& » 14 259,320
J| 103,728
< 155,592
SUHESAM L HEH ZA(RIL) 45,801 45,801 0
201 2Bt | 6,000 6,000 0
02 =24l 6,000 6,000 0
OO0tdt AT AEH &S 6,000,000 6,000
202 O4dl 39,801 39,801 0
01 = LH 4 HI 39,801 39,801 0
SIS BExUs S 39,801,000 39,801
HEAMFAUANY S8 L FEF NS (X2) 321,478 363,999 A 42,521
HAMEZE e S(X) 321,478 363,999 N 42,521
101 124 dl 7,200 7,200 0
04 JIZtHZ22HEE+ 7,200 7,200 0
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